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49 | dpwunul 3.99 45 50 | 35 69 64 | 57
62 | 3wjwunwl > 2.54 49 44 | 47 32 | 55 54
63 | Unlwntltgpn - 2.55 57 44 | 47 41 39
76 | Unnnduw - 2.10 41 |37 | 36 | 47 41 | 58 36
76 | )nuhuwyhu Uwytnnuhw 2 2.88 53 | 37 | 47 | 47 27 40
83 | Ynundn 2 2.36 41 36 | 35 55 | 43 37
93 | Mwquiuunuil - 3.20 33|20 | 24 | 47 | 62 67 | 29 30 | 37
98 | Upwlipw * 1.56 45 | 37 | 44 | 35 32 | 36 29
98 | PEjwnnLu = 3.34 25 | 37 | 24 | 47 24 | 49 51
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104 | Utpphw 1.26 37 | 37 | 47 | 35 32 | 29 36 | 32
104 | NWypwhlw = 1.93 49 | 20 | 36 | 35 39 | 35 43 | 33
108 | Pnulihw L 36ngLgnyhtw = 1.95 37 [ 37 [ 42| 35 23 37
115 | @nipehw = 1.57 26 | 33 | 37 47 | 44 32 | 20 36 | 33
121 | NigpEyunwl = 2.12 29 [ 20 | 24 | 35 48 | 19 | 35 | 49 | 37
141 | \pnquuinw > 1.69 21 27 | 22 20 | 27 [ 39| 25
141 | NnLuwunw = 1.47 25 | 20 | 21 | 35 24 | 25 32
154 | Unpptowl = 2.46 29 [ 20 | 21 [ 35 24 [ 12

162 | Swehluwnuwil = 0.78 17 21 | 22 20 | 18

170 | fénppdtlUunnwil = 1.45 17 | 20 | 21 | 22 12
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